COPENHAGEN

Mounting instructions - Staircase with wire balustrade




®

x9

x 15

[L2f

®

'©

x12

©

e

K3-08001 K3-04030 K3-06003 x11 x 11 K3-04053 R1-63500
212x60 210 (020) 210x60 H2-20505 H2-20506 A17 (950) M16x40
x 1 (11 |x72 ®@ |[x35 ©
x1 R2-86074 K3-06030 K1-04040 x 35
H3-35920 M16 D6x30 M6x16 K1-04041
; % &
| x5 x 10 X6 X6
x 1 N K1-14939 K1-04050 K3-03010 K3-07008 e} 7 x 6
H2-63530 o6 o6 M10 M10x70 K2-04030 K2-04040

X 2
K2-04040

x1
K1-01620
240

®

x 21
K3-06038
D4x30

I

®

@

X7
K3-0
M6x8

5060

=

@

C

R1-63501

24mm

€

x5
K3-06022

D5x35

|

®

'

x5
K3-08002
28x40

S)

o

x 8
R3-20590

a12x24

x1
K1-28040

x 11
K1-28030




Mounting instructions

Mount the staircase from the top downwards.

Each metal element has a variable setting option of up to 4 cm.

Before starting to mount the staircase, calculate the exact ascent height of
each step. This can be done by dividing the ceiling height (top of floor to
top of floor) by the number of ascents. Number of ascents = number of
steps + 1.

Example:

ceiling height (floor to floor) = 252 CM
ascents (12 steps + 1)
252cm/13=19,38cm

This is the ascents height of each step.
Mounting:

Measure from the top edge of the ceiling the calculated ascent height + a
step thickness of 4 cm. (e.g. step thickhness 4 cm + calculated ascent
height 21 cm = 25 cm). This is the mounting height of the top element (Fig.
1). Attach the element with rawlplugs and hexagonal head screws if the
floor is made of concrete, and only with hexagonal head screws if the floor
is made of wood. Before final mounting, check that the element has been
positioned correctly, using a spirit level.

Now mount the other elements from the top downwards. Use the fitting (H)
to make this easier. Attach the clamp (D) to the fitting and lower into the
element (Fig. 2). When the elements have been clamped together remove
the fitting (H). It is also used for the other elements.

Observe the calculated ascent height carefully (it may be a good idea to
cut a piece of beading of the right lenght to measure with). If the ascent
height is 185 -190 mm, turn the clamp (E) so the hole is at the top. But if
the ascent height is 220-225 mm the hole must be at the bottom. It is
important to clamp the elements together firmly, using the wrench (B1).
Adjust the elements to suit the flight of stairs in question, using the
assembly piece (l).




Support the elements which have already been mounted with a post
(Fig.3).

For quarter-newelled staircases, tum the 3 last middle elements and the
bottom element 22.5°, using the enclosed assembly piece (I). The 5 first
steps should then face the same way. If you shoose this staircase design,
care must be taken when using the staircase.

The staircase can also be mounted in a gentle curve. Fig. 14 shows 5
examples. Fix the floor element with rawlplugs and hexagonal head screws
if the floor is made of concrete. If the floor is made of wood, mount the
element with hexagonal head screws.




Mount the steps using torx-spax screws (K) and the enclosed bit
(A1).

Place the steps on the support struts and mark them. It is important
to mark them accurately to ensure that the steps have the correct
position. Fig. 6 shows how to place the steps parallel on the
element (same x dimensions), and Fig. 5 shows how the steps
should be positioned in the middle of the element lenghtways (same
y dimensions).

After marking the steps, drill through them with a 3.5 mm drill to a
depth of 35 mm. It may be a good idea to attach a stop device to
the drill to prevent it from drilling all the way through.

&




3
A

\ \ \
A S, A A

904NN
SOl g N




Mounting the balustrade
Start by drilling every second step up to the metal posts. Drill the holes with a diameter of 11 mm and drill 30 mm from the front
edge and side of the step respectively. Use the drilling template (Fig. 13) for marking. If the balustrade is on the left-hand side,
turn the drilling template upside-down. To prevent the steps from being scratched during drilling, we recommend that you clamp a
piece of wood underneath each step.
Attach the posts as illustrated (Fig. 7)
The wires have to be assembled as illustrated in (fig. 1).
The wire and hand strip will probably be too long, so they should be cut to the correct length. During mounting we recommend

adjusting the length at the top, and cutting at the bottom after mounting.

Once the wire has been shaped to follow the line of the staircase, attach the fittings (M) then fix them to the posts as shown (Fig.
9). Start by mounting the second-top wire then work your way down. Mount the top wire after the hand strip has been mounted.

Then mount the hand strip (Fig. 9 + 10 +12). Pre-drill using a 3 mm drill for the screws (V). To assemble the hand strips see
(Fig. 10).

Now cut the balustrade to the correct length by the first step and finish off by attaching cover pieces to the ends of the wire
(Fig. 12).

PLEASE NOTE - if you have bought landing banister, the end baluster does NOT have to be mounted as shown in fig. 9.
Instead, please follow the mounting instructions in the landing banister package.

Depending on the pattern of load we can not exclude that during time a permanent bend at the middle of the staircase might
occur. This has no influence on the use of the staircase.

After mounting it is imoortant to check all the components to ensure that screws and bolts have been tightened correctly. The
staircase should also be checked again after 3-4 months of use.

Drill, diameter 11mm




640

640

640

G6S1

841




